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3,974
1,589
2,385

Mo A

S 2SHUS IS EHASE AL 7,948 0 7,948
OAN=ESIIHENHS 19,8703 »400ha 7,948
3,974

H

- 437 -




SN HYTAD
:’3

a9 B L
ool MYEH FHOIS S (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
= 1,589
= 2,385
STHMAD| B S 1,000 0 1,000
= 1,000
202 o4 H| 1,000 0 1,000
= 1,000
01 2L I 1,000 0 1,000
O=2MsS35&a 22 20,000 503 1,000
= 1,000
MEES MEIEtHE 2H 2,143,522 2,744 545 A 601,023
= 635,675
& 285,023
= 1,222,824
=Ry =1N] 2,000 1,000 1,000
201 LBt ]| 2,000 1,000 1,000
01 AP 22| d| 2,000 1,000 1,000
Ot MAX™ e 2,000
2422 S MAY 19,000 15,600 3,400
101 2121 d| 10,000 6,600 3,400
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= 20,874
MEXNSAAH 25 L 2H 93,844 41,500 52,344
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O3k do 5,000+690H 3,450
< 690
s 2,760
308 A EHHSOIA 93,375 93,375 0
07 IXNHMAR S = 93,375 93,375 0
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SN S4YTRD
2

ool AM Ll
S9l: MYAS JBHEH CER-D
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o 276
OoeEE FHIYXZ 6,600,000& 6,600
7 4,620
s 1,980
OgEzel HeEUX 800,000& +8H 6,400
) 4,480
s 1,920
OYExE 2FHl 300,000 »8H 2,400
s 1,680
[ia 720
401 Al BIZ 201 8] 1,726,414 1,015,301 711,113
s 1,208,489
i 517,925
01 A& HI 1,690,298 990,553 699,745
Ot d &l 213,448,000& *3. 5km 747,068
s 534,923
= 212,145
Ooxgazad 131,977,750 *4km 527,911
s 378,000
[ia 149,911
OYEREZMNEH 66,270,250 *4km 265,081
s 190,400
s 74,681
OgE==+ 7,763,160& x15.5km 120,329
s 84,230
s 36,099
OAHE & A HI 29,909,000& =14 29,909
= 20,936
s 8,973
02 Zeltl 26,174 18,152 8,022
OteUE 22l (1.66%) 12,401,000 12,401
OXHAT 22|(1.66%) 8,763,000 8,763
OF=ME 22l(1.89%) 5,010,000 5,010
03 A& =TI 9,942 6,596 3,346
O AT A FZA(0.63%) 4,707,000 4,707
ORUATAE ZZ(0.63%) 3,326,000 3,326
OYETREME FA(0.72%) 1,909,000 1,909
LASHE MAXA 391,200 150,000 241,200
402 RIZ2EXt20l ™ 391,200 150,000 241,200
01 212t X2 AF B 2= (REXIXH &) 391,200 150,000 241,200
OEIZ 2 E77YX &
5,000& *50,0002 *40% 100,000
OZret THHH X & 18,000, 000& *12ha*40% 86,400
O=22 ZZNE K& 10,0002 x6,000M E *40% 24,000
O=Z =gl X& 4,000& *2,00024 *40% 3,200
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Cel MEAS JBEY CEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OUMEHN2HEAIE X
100,000,000 *2= *40% 80,000
OepE A N 3,800,000 *5CH *40% 7,600
Ol &S (LA 2HNL X
10,000, 000 *18JH A x50% 90,000
=2 X4 - 2el 510,000 504,000 6,000
g 255,000
= 255,000
101 2121 H] 45,000 45,000 0
Fag 22,500
= 22,500
04 JI2ZtHIZ22NEE S 45,000 45,000 0
OS2 K22 45,000,000 45,000
g 22,500
= 22,500
401 Al HI L 204 HI 465,000 459,000 6,000
g 232,500
= 232,500
01 Al&H| 461,676 455,700 5,976
OsA2 3| 57,709,500 8. 0km 461,676
= 232,500
= 229,176
03 Al 20| 3,324 3,300 24
OEAMZAEHIZ=E(0.72%) 3,324,000 3,324
ABEARS (KFAI) 115,510 131,441 A 15,931
201 et 9| 800 800 0
01 AR 22l ] 800 800 0
OKFAFEI 24X Y XA -ollMl A2XE H &
40,000& #2082 800
308 AMXISHMSOIA 84,710 130,641 N 45,931
07 X SHH2AESZ 84,710 130,641 N 45,931
OAMEAMNY 2= 84,710,000 84,710
401 AlEHIZ 201 Y| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
ObLALEY =232 6,000,000 54 A 30,000
SMHE3 MEH 4,200 1,200 3,000
201 LBt 9| 1,200 1,200 0
02 2224 H| 1,200 1,200 0]
OSMESME R MI|otM 22| HE |
100,000 x12& 1,200
307 2iz2tol A 3,000 0 3,000
02 QIZ2FA AAIE E X 3,000 0 3,000
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S MEAS JBESY GEERED
SA - BB B () - MM - BES Ol &t o San HmEET
S NEEEEEPEERE.
3,000,000& =14 3,000
&K 2t el 4,800 4,800 0
201 £B-2dH| 4,800 4,800 0
01 At 22l 4,800 4,800 0
OMEAN(ZNE, BEDE) +48
1,600, 000& 3 4,800
At THOH 2 Akel SO (AAREN & 2ol 2 &) 52,568 49,882 2,686
= 21,027
< 22,080
[ia 9,461
101 @124l 41,539 39,621 1,918
2 16,615
= 17,447
= 7,477
04 JIZHHNZ2Z 2RSS E =+ 41,539 39,621 1,918
OAHALEH & 20l & 1,730,791& x4 «6IH & 41,539
- 16.615
< 17,447
e 7,477
201 L2l 9,829 9,061 768
- 3,032
< 4,129
s 1,768
01 At 22l 8,329 7,561 768
OtAMEBES==2ZHI LI 605,000 «10H*3L 1,815
= 726
< 762
s 327
OAHAIEHE Zol 2 S M E 2 S
500,000& x4 H 2,000
= 800
< 840
s 360
OXt& & Xl 800,000& 53 4,000
= 1,600
< 1,680
e 720
OAEALEH Ol & ==& XL TH 514,000& 514
= 206
< 217
s 91
02 =524l 1,500 1,500 0
O FFHI 300,000& x5& 1,500
= 600
< 630
[ia 270
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9,657
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1,658

9,791

A 134

402 2I2tXr=01 &

Mo H

9,657
7,355

644
1,658

9,791

A 134

02 QAT 2AMLEZ(0IXTHE)
A

10,729,000& *90%

MW

9,657

9,657
7,355

644
1,658

9,791

N 134

Mo

3,600
1,800
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1,260

4,512

A912

402 QI2tXt=01 ™

EUR RN

3,600
1,800

540
1,260

4,512

AQ12
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SN HYBED
a9 B L
Sol: MEAS JBHEA (cHel ® Q)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 CIZEXIEAIS EX (0| XM THL) 3,600 4,512 AN912
OUMSMALT A2 (AM)
9,000,000 *40% 3,600
= 1,800
& 540
= 1,260
AASMHAD| B A 20,884 61,106 N40,222
= 10,442
= 3,133
= 7,309
402 BI2H X201 M 20,884 61,106 N40,222
= 10,442
== 3,133
= 7,309
02 CIZEXIEAISEX (0| XM THL) 20,884 61,106 N40,222
OLMNSMADI|BIEEA 52,210,000& *40% 20,884
= 10,442
= 3,133
= 7,309
AMNEKEIIEXTY 17,600 80,924 ANB3,324
= 8,800
= 2,640
= 6,160
402 SI2F 20| & 17,600 80,924 NB3,324
= 8,800
= 2,640
= 6,160
02 CIZtXIE A E X (0| & THS) 17,600 80,924 NB3,324
OLNEERSI|IXH 44,000,000 *40% 17,600
= 8,800
= 2,640
= 6,160
NAMAAS S 1,000,000 0 1,000,000
= 500,000
= 500,000
401 Al EHI L 204 HI 1,000,000 0 1,000,000
g 500,000
= 500,000
01 Al&H| 993,700 0 993,700
ONsAdae Ty U Bt 993,700,000 1Al 993,700
Fag 496,850
= 496,850
03 Al 20| 6,300 0 6,300
ONGESUTH U 2o
1,000,000, 000 *0.63% 6,300
Fag 3,150
iy 3,150
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MW

403
269
40
94

,800
,200
,380
,220
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SN MYBAD
2

=]
X XH: OolA
S = =

Yy ZHA 235t
SPl: SMT U MBANUIA BB (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 At 22l 11,700 12,600 A 900
OZzzeld AdFIR FY S 300,000 9L 2,700
OoZdzzel FH72gy 2 =2l 9,000
02 3322l 3,000 3,000 0
OoZzzzel ZH g7 7¢ 300,000& 10 3,000
202 odl 3,000 3,000 0
01 = LH &4 1l 3,000 3,000 0
O=sXXEZ0bl 3,000
301 L2 A= 500 500 0
12 JIEHE& = 500 500 0
Oz JAERNF MDBAZ 500
401 Al HI & 2B 459,000 500,000 A 41,000
01 A& HI 455,695 496,400 A 40,705
OHEZ AM 246,695
Oonz=s &% 30,000
OZ&X&Xl AlHl 20,000
OgarATZ AEHAR 9,000
Odll= =4 150,000
03 A& =2 THHI 3,305 3,600 A 295
OZ2Z KX 22l(0.72%) 459,000,000%0.72% 3,305
MPNHAE20 2% X 20,294 18,452 1,842
2 10,147
< 3,043
s 7,104
101 @124 dl 19,694 17,852 1,842
= 9,847
< 2,953
s 6,894
04 JIZHHZ2XRHEE S 19,694 17,852 1,842
OZA=sA2ed o2y 19,694,000& »1H 19,694
= 9,847
< 2,953
[ia 6,894
201 L2l 300 300 0
= 150
= 45
i 105
01 At 22l 300 300 0
OEA=sX2ed EE RS 300,000& »1H 300
= 150
< 45
s 105
301 L2 Az 300 300 0
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MB2t & MEANHIA (Sl & &)
= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
= 150
< 45
= 105
09 HALAHIE& S 300 300 0
OEA=X2eld EN0 s |
300,000 =1 300
= 150
< 45
[ 105
23 KM 5,000 8,000 A 3,000
402 RI2EX=20l M 5,000 8,000 A 3,000
01 2I2EH 2 A B (KA ) 5,000 8,000 A 3,000
OxZ&=+ MEIXIA 5,000
NXH EA=, o= dsitss s =4 700,000 550,000 150,000
At ed
s 350,000
s 350,000
401 A& HIZ 201 I 700,000 550,000 150,000
s 350,000
[ia 350,000
01 A& HI 695,590 546,535 149,055
O=AN= =4 500,000,000& *1ha 500,000
s 250,000
[ia 250,000
otz =4 195,590,000 * 14! 195,590
s 100,000
i 95,590
03 Al 2 THHI 4,410 3,465 945
OEAMNzE & 224 ALY
700,000,000%0.63% 4,410
daX el (=) 25,000 0 25,000
< 17,500
s 7,500
401 Al HI K 201 I 25,000 0 25,000
< 17,500
s 7,500
01 A& HI 25,000 0 25,000
OLs #HEZ = 15,000
< 10,500
[ 4,500
O+ JtgH & 10,000
< 7,000
s 3,000
HE2IAZH (SR D) 32,436 48,000 AN 15,564
Jl23&dl 32,436 48,000 A 15,564
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